= sk Lk 4
F140 BRMRPERELEAFTRES HE <KHREELEF FXRPBAEFED
6/11(+) 7/12(+) 7/ 3(H) 7/9(+) 7/10(H) 7/16(t) | 7/17(H) | 7/18(H) %P I 0D o HE AR
7KK %*9:00 BT A KK 7 — 1
N2y k| B *11:30 iR v — (R | K
A I +*10:30 E AT A RERHECGT- M) | [LH
B — *9:00 WEGEERNAR (NTE) RE
EFER *10:30 RALEFER S BFEZE
NL— = A2%10:15 TR AR E FLET « (L O s
R—L I D1%9:00 AT AR B )i
5 * [F14 8:30 K EE) ¥ —FEEk mfadl (7,8 23— 1)
5oz {1\ 10:00
* [k 8:30 BKER) ¥ —FEEk H)— (5~8 23— )
S fE A 9:00
> A AL A RE 8 (F1A) T - FEOBE
A 9:
) & 9:00  EifA 9:00 PEERER) Y 2 —(fEN)
R * B A , PILRAKEIE 1K) | B
x 900 | X 9:00 PR & —([EA)
V7 K 2 AL D F H 5
Rl 1 *9:30 P ER 2 —(Aa-b) |
" I * [ 9:45 | HfE A 9:30 PEEREE) v 2 — FNNECE 2 3 A)
"
sE s * [ 13:30 | i A 13:30 PEEREE & — P2ALGEE 1 RA)
fe b % 9:00 BELIYLT 4—)L R
& 7 * [ 11:00 VST EGEAE BHT (B A 12:00
N I 9:00 7 A [E4 (8 A 9:30~)
5 . Té-_‘ /\4*,(‘%/5\ 2y
—_ * [k 19 05 AT B T i
8 A 11:55
B L7 P LR —IVRKAF—L 8/7 (A)
|] pi=iS
R MRZEA Y -V R4
& om L 7B LR — LR —L 7/31 (H)

2 RGBS

£oh - BRFEA - Y Sxovnid. 2CTROD @HECIHMDOHSEL | —REE |

B5Ethn |

LT R’

&\ EXS. 2BXEN- -




